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Al Q#3(oF7})
1. (@) v, = 725 m/s , vx = 833 m/s
(b) Ho = -1453 k kg - m%/s
2. vpa = 367 m/s /30°, va = 1157 m/s —
3. aa = 245 m/s*, aa = 17.7 rad/s’

2. (@) vo = -6.0 m/s
(b) Ax = 10bm

(c) 325 m
3 a = 450 4 (a) WBC — 60 rad/S /) , Wcp — 15 rad/S (
" (b) ve = 541 - 30§ (m/s) (= 618 m/s /29°)
4B. t = 163 s ) )
871 E A E (F3F)
A & #1(ok7H) 1. (@) o = 80 rad/s €
1 (b) vg = 20 m/s —
2.(a) t = 122 s 2. (@ vp =0, osp =393 rad/s )
() h = 141 m (h) wsp = 0, 2vP = 6.28 m/s —
() v =194 m/s | 3. ac = 17.8 m/s” ™\,
3.y = -1204 m 4t = ;’wo
4. (a) a = 1.56 m/s” g
5. = 14.0 2
M) v = 20 m/s (a) a rad/s” )

() @ = 42.0 rad/s )
(¢) = 205 rad/s )
6. a =216rad/s” C, a =346 m/s’ —

2 2
LF - 2 wlzel gl Feu
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2.(a) a=491m/s” |, T =1470 N ) 2 A] 8] (oF7H)

(b) vg = 443 m/s |
3.v=152m/s |
4. (a) va = 1.695 m/s —
(b) va' = 0.282 m/s <«
() vg” = 2971 m/s

1.vg=125m/s T, Ayg =175 m 9=
2. (a) r = 0.0625 m

(b) vig = 0225 m/s <
3. (@) @ = 20 rad/s” "

(b) ap = 51 - 640 j (m/s?) (= 812 m/s* \52°)
4. ar = 258 m/s” 1, as = 018 m/s® 1
5. (a) a = 714 m/s” —

(b) h = 1.218 m
6. (a) a = 10.6 rad/s’ )

(b) va = 318 m/s |

Al F#2(0F7E)
L (a) a =701 m/s” |
(b) v = 140 m/s |
() v =649 m/s |
2. x = 108 m
3. (@ va =23 m/s <, vg' =22m/s —
4. (a) vo = V2L —
(b) vs = V6gL

Al g#3(F71)
L@re=161i+12j+20k (m)
ML =14i+60j+ 30k (kg-m/s)
() Hg = -1561i + 48§ - 168 k (kg - m%/s)
2. (@ rs=501i+27j 30k (m)
(b) v = 250 i + 135 - 15 k (m/s)
3. (@) va = 041i- 07k (m/s)
(b) ap = -361 - 657 - 02 k (m/s?)
4. va' = 1866 voi + 05 voj (= 1.932 vy /15°




